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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by communication process ? 

Explain the elements of communication process. 
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lEizs”k.k izfØ;k ls vki D;k le>rs gSa \ lEizs”k.k izfØ;k ds 

rRoksa dh O;k[;k dhft,A 

2. What do you mean by body language communication ? 

Explain its merits and demerits with its limitations. 

nSfgd Hkk”kk lEizs”k.k ls vki D;k le>rs gSa \ blds 

ykHk&gkfu lfgr bldh lhekvksa dh O;k[;k dhft,A 

3. Define the interview. Explain the various kinds, 

importance and limitations of interview. 

lk{kkRdkj dks ifjHkkf”kr dhft,A lk{kkRdkj ds fofHkUu 

izdkj] egRo ,oa lhekvksa dk o.kZu dhft,A 

4. What do you understand by SWOT analysis ? Describe 

its importance and limitations. 

LokWV fo’ys”k.k ls vki D;k le>rs gSa \ blds egRo ,oa 

lhekvksa dks Li”V dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Types of Communication. 

lEizs”k.k ds izdkjA 
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2. Grapevine communication. 

vaxwjhyrk lEizs”k.kA 

3. Guidelines for effective writing. 

,d izHkko’kkyh ys[ku ds fy, vko’;d ckrsaA 

4. Order Letters. 

vkns’k lEcU/kh i=A 

5. Inter-relationship between communication and self- 

development. 

lEizs”k.k ,oa vkRe&fodkl ds chp vUrlZEcU/kA 

6. Audio-sign language. 

JO;&ladsr Hkk”kkA 

7. e-Commerce. 

bZ&dkWelZA 

8. Cultural sensitiveness. 

lkaLd`frd laosnu’khyrkA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Pride model of effective communication is given by 

Vardhaman and Vardhaman. (True/False) 

izHkkoiw.kZ lEizs”k.k dk izkbM izfreku o/kZeku o o/kZeku us 

fn;kA    ¼lR;@vlR;½ 

2. There is a difference between information and 

analytical reports. (True/False) 

lwpukRed ,oa fo’ys”k.kkRed fjiksVZ esa vUrj gksrk gSA  

    ¼lR;@vlR;½ 

3. TIA means thanks in Advance. (True/False) 

TIA dk vfHkizk; Thanks in Advance gksrk gSA  

    ¼lR;@vlR;½ 

Indicate the correct option : 

lgh fodYi dk pquko dhft, % 

4. The following is the most effective way of 

communication :  

(a) Verbal 

(b) Non-verbal 

(c) Written 

(d) All of the above 
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fuEufyf[kr esa ls izHkko’khy lEizs”k.k dk lcls vPNk rjhdk  

gS % 

¼v½ ekSf[kd ;k ‘kkfCnd 

¼c½ v’kkfCnd 

¼l½ fyf[kr 

¼n½ mi;qZDr lHkh 

5. Who has defined the functions and objectives of 

business letter under the title “I am the letter” ? 

(a) A. P. Stove 

(b) John B. Opdyeke 

(c) Charles Kelley 

(d) H. W. Fayol 

fuEufyf[kr esa ls fdlus ßeSa i= gw¡Þ ‘kh”kZd ds vUrxZr 

O;kikfjd i= ds dk;ks± o mís’;ksa dks ifjHkkf”kr fd;k gS \ 

¼v½ ,- ih- LVkso 

¼c½ tkWu ch- vksink;sds 

¼l½ pkYlZ dsyh 

¼n½ ,p- MCY;w- Qs;ksy 

6. B2B means : 

(a) Business to Business 

(b) Bank to Business 

(c) Borrowing to Business 

(d) Business to Bank 
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chVwch dk vFkZ gksrk gS % 

¼v½ fctusl Vw fctusl 

¼c½ cSad Vw fctusl 

¼l½ cksjksbax Vw fctusl 

¼n½ fctusl Vw cSad 

7. What are the reasons to write a complaint letter ? 

(a) Inferior goods  

(b) Wrong quantity 

(c) Goods not according to sample 

(d) All of the above 

fdu dkj.kksa ls f’kdk;rh i= fy[kk tkrk gS \ 

¼v½ [kjkc eky 

¼c½ xyr ek=k 

¼l½ uewus ds vuqlkj eky dk u gksuk 

¼n½ mi;qZDr lHkh 

8. Mathematical model of Communication model was 

started in 1949 by : 

(a) David K. Berlo 

(b) Shannon and Weaver 

(c) Harold D. Lasswell 

(d) Aristotle 
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lEizs”k.k ekWMy izfr:i ds xf.krh; ekWMy dk izfriknu 1949 

esa fuEufyf[kr esa ls fdlds }kjk fd;k x;k Fkk \ 

¼v½ MsfoM ds- cyksZ  

¼c½ ‘kSukWu ,oa ohoj  

¼l½ gsjkYM Mh- yklosy  

¼n½ vfjLVksVy ¼vjLrw½  

9. Which is not the style of first draft ? 

(a) Linear style 

(b) Circular style 

(c) Horizontal style 

(d) Vertical style 

izFke izk:iys[ku dh dkSu&lh ‘kSyh ugha gS \ 

¼v½ js[kh; ‘kSyh 

¼c½ pØh; ‘kSyh 

¼l½ f{kfrth; ‘kSyh 

¼n½ yEcor~ ‘kSyh 

10. The other name of Transaction theory of 

communication is : 

(a) Spiral theory 

(b) Perception theory 

(c) Modern theory 

(d) None of these 



 [ 8 ] BC–04 

B-2 

lapkj ds O;kogkfjd fl)kUr dk nwljk uke fuEufyf[kr esa 

ls D;k gS \ 

¼v½ ?kqekonkj fl)kUr 

¼c½ cks/k{kerk fl)kUr 

¼l½ vk/kqfud fl)kUr 

¼n½ buesa ls dksbZ ugha 
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